
1. Pa=Pb=Po 
P<Po 
Pa+rho*g*za+ ½*rho*va²=PD+rho*g*zD+ ½*rho*vD ² 
½*rho*vD²=rho*g*(h+H) 
vD=√(2g(h+H))=4.537m/s 
 
2. PD=P=Pa+rho*g*(za-zD)- ½* rhovD² 
PD>Pv 

Po+rho*g*(h+H)- ½*rho*vD²>Pv 
Po+rho*g*(h+H)>Pv        Pourquoi ½*rho*vD² a disparu ? 
Donc h+H>0,2m 
 
Q=(ᴨr^4 ∆P)/(8lη) 
Q=ᴨ*r²*v= ᴨ*ra²*va 
vD=va(ra/r)² 
PD=Pv + (8LηQ)/(ᴨr⁴) = Pv + (8lη*va)/ra²     Je ne comprends pas pourquoi ici on divise par ra²  … on 
devrait multiplier par ra² non ? 
Et PD = Po+ rho*g*(h+H)- ½*rho*vD² 
Donc : Po+ rho*g*(h+H)- ½*rho*va+(ra/r)⁴=  Pv + (8lη*va)/ra²      
On obtient 0,89m/s 


